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| Reading 01
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| Reading 02
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Reading Closer

A Across @ purpose @ trick ® easily @ fishing
® hope

Down ® popular @ expensive ® real @ bright

ugly

Answers - 1



B 1.trick 2.expensive 3.save 4. government

5. crowded
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C Murals, purposes, ordinary, popular, real
[GHM] Wt 34t Q17 GALe] 5t HE0|UT AMEHE2 042

A SHMoZ HelE It RE HelE2 MESHA
= X,

HEt HAIXIS EOH Est Hsts st YA OISLIS
Cig 4 A STYS o2 otsCte

A3 %/ WORKBOOK
Reading 01 2-3%
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. They love the beach and the food around the village.

N

. Look up at the tall houses in the pictures.

w

. The houses are painted in bright colors and interesting

designs.

N

. They just wanted to make their houses look beautiful.
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Reading 02 4-5%
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1. TLSict 2. 0{2{ 7tX|9f, CH2 3. X
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7. 27| U 8. ¥&2 9. OIELIR

10. 8% 11. Cistot 12. E59

13. 2471 14. X9 15. 312t

16. BHS0{ LTt

B

1. Some murals are created to give messages.

2. In America, murals gave hope to Americans in 1930s.

3. A mural can add beauty to an ordinary place.

4. In Korea, murals changed Dongpirang into a beautiful

place.
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Busy Bees
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1 protect 2 closely

| Reading 01

1.d 2.b

fly, queen, bees

3.(1)T 2)F (3)F 4. hive,

Ci=N Frank 21E2| M ©E

S7toItt, J= ot & Tof| 3t S E

Frank &Z2 ¥ S 72
1, OFELE J280] =R Lis Xt 20| HES YEHM of
A ME2 E

Frank &fZd L= 22F A2 E AUS A0 2= 2E2
Z2REH 22| RS

El

oro| HEOA HEES RO A2 a2 EHE BXHAHZ A

TS AZfSh=X(0)| CHol BH ST

o J0 U2 BT  oigHe U2 S H0/1, 1 By 4
X3t 2o|ct
3

3 (2)5~6HOE HOl, Z0| AX}
g wairt
(3) 8~9O R HOf F0| AIKIO| AR 0IYLUS LIZ ARL0]

S,

4 [5iM] Frank &2 EXOIA M22 & =
O =L = S0 2-ES 28 X 25 USAC

O3 OF d= oS M U2 20| S0 OXHeZ,
JeHE R

o — o
R )

| Reading 02

1. a 2.c 3.d 4. 50-75, circle, left,

right, Waggle, food, waggles, starting point
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Reading Closer

A Across @ beekeeper @ round @ attack @ closely

® hive

Down ® return @ protect

lay

look ®© waggle

B 1. attack 2. dump 3. protect 4. complex 5. repeat
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C hive, sprays, lay, language, perform
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B

1. Uncle Frank and | each wore a helmet with a net.

2. We had to protect ourselves from bee strings.

3. Then he looked for the queen bee in the box.

4. Uncle Frank moved the queen bee into a new wooden
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1. Watch closely, and you will find that their dance

changes.

. In a round dance, the worker bee runs in small circles.

. The worker bee does a waggle dance when the food

is far away.

. The length of the waggle shows how far away the food

is.
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A Visit to Mexico
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1 located 2 decorate
| Reading 01

1.(1)b (2)c (3)a 2.a 3.c

4. capital, largest, Aztecs, Spanish
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| Reading 02

1.d 2.¢c 3.c 4. November, tables,
graves, skeletons, bread of the dead, dead family

members
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Reading Closer

A Across @ grave @ holiday @ area @ bite ® skull

Down @ hide ® volcano @ capital ® decorate

© destroy

B 1. capital 2. bite 3. located 4. destroyed 5. official
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C Dead, visit, skulls, capital, population
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Reading 01 10-11%
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1. S0 2. Bit 3. HiE2l, Hito
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13. Otu|sit 14. g2 ot 15. 2104

16. X3

B

1

2.
3.
4.

. Itis the largest city in the country.
It is also the political and cultural center of the country.
The city was rebuilt and named Mexico City in 1524.

Spain has influenced Mexico greatly.
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Reading 02 12-13%
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B

1. The Day of the Dead is a Mexican holiday.

2. They clean graves and decorate them with flowers and
candles.

3. They tell stories about dead family members.

4. Many people dress up as skeletons and parade
through the streets.
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Secrets of Trees
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1 survive 2 conditions

| Reading 01

1. b 2.c 3.c 4. new layers, growing,

Hyperion, thick
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| Reading 02
1.¢c 2. (1) chemical (2) insects 3. eggs,
insects 4. talk, chemicals, insects, tasty, eggs
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Reading Closer

A Across @ grow @insect @ layer @ healthy
® tasty

Down ®giant ®repair @ thick ® damage
© attract
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B 1. meal 2. communicate 3. attract 4. insect
5. growth
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C survive, repair, layer, protect, chemicals
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Reading 01 14-15%
A

1. RR2tct 2. &0t 3. Mordct

4. 1OX|c 5. &4 6. ¢1Lst

7.5 8. -9 yoz 9. 87|

10. JEH 11. 4AkstCt 12. LIOJE|

13. 717t 2 14. OFElE 15. cist

16. FH2

B

1. The answer is that trees never stop growing.

2. Trees need to grow in order to survive.

3. If a tree stops growing, it will not survive.

4. Even in bad conditions, trees will produce growth rings.
C

1. HRS2 oH Xj2ts AS HEW

2. HX| E7| HICE MER S5 HECEMN AAZE HAUSHA|

6. 142 115.90/E2] 7|t} OA2 A& X2t ALt

8 - Answers

7. MANA 7HE 2 UR= XOIHE MFO0[0! MUHE MHO|

Ch.
8. 71 Lt2 LS 2| ZLIOtY| QUCE LI E71= 11.101Ef FH0|
Ct.

9. 0| LIF= 2 2,500 Hk EUM Lot AL X2t ATt

FHEC
10. 7F& 717k 310, 7P A LIRS SRR A% Kj2tof Stet.
Reading 02 16-17%
A
1. 48 2. QARASSICE 3. BEiAt
4. 2 oM 5. 8tet 23 6. ZXISHC
7. % 8. ASICH 9. %A=
10. 2H2 1. 25 12. 8 E
13. Y&t 14. 289 15. Fsit, Brt
16. 2Ct
B

1. Plants talk to protect themselves against insects.
Plants don'’t talk with words, but through chemicals.
Many insects lay their eggs on plant leaves.

2.
3.
4. The chemicals are like an ad for a free meal.
(o]

2. MEES HHE AAZE HS517| Il CHSSHTY,

3. 0iH S20| LIRUS HI| AZ I, T AME2 38t 23S
L =Ct

4, 2 YE2 stet 23S UX[6td U O3, AS QA DtEs
5 AARO| 5t5t SHS HASHTt

6. 152 M7IS0| B0 [} HS 4= U= 207t JU7|IE ST
7. 0K OS2 &2 S0 28 I LSS 20 + QT
8. 1= R AES2 I Felott
9. 152 LE LSS |USIE &t S2HE 37| 30| Usst
ch.
10. 1 2550| Z0tet LS0|Lt 22 MZ B0t HeSS HO
X2



China’s First Emperor

2RO QUIZ 40% | Reading 02
1 SHE 2 6,400 km 1. b 2.c 3.a 4. from enemies, one

long wall, hard work, largest structure

oigl et QUIZ YRES
ol A1 EREEES
1 amazing 2 structure )
SFQUS2 £ @ Mo 2|P-EE XU D52 9| Lt
2HE MSZEE X[7|10X Ot HY OS2 0ts F2/0| =2 ¥
| Reading 01 S METH 1 CHEO| RINEHD} HSS BZsl0] siLte] 71 BE
1.d 2. a 3.b 4. 1974, farmers, AULE,
hairstyle, tomb, power, three TXNEHE X Ex9 A SHRALCE ‘Qin'0lE 0|2 ‘Chin'Ht
HIZ5HA S2I0, ‘China'2te T2 0] O|S0|A HIREIUCH ZIA|
Rlst STl HAtS Sl F20| Z2BKI7IS SIYHCE SHAIT DRILE He
1974 SEQE2 S22 UAHS O 2 T S52It LollA 2 10E UO|UC ot HO| F= AFHS0| Fdg Ot =L
US St UL IS HHS AS HMLOH 2 8,00082 =7 IS0 AMATE ZHY 2ol 23] UA0IA, o AIRFE2 HEHES
HAL 2047} X2 500 of2Holl 251 URACH HAISES 183-195 ‘Z=20| AE’0|2tD BECr}
ME|OIEQ| 7|2, ZIAt 1Rst 2| 2N A= BFES XU OHE De|YE2 Y MAAM 7Y 2 HES0|0H A2 20|
2E0IAC o 6,400 ZZ20|E, &0| 7.6 D|E, 455 0|7t o 4.6 OIE{0|
Rh= AL £2 20| 18 ES0t7| 2l ItEUCH C}. Q2= 22|ZAM0| Hets| Yot ZIX] YK R EA0=
0 2iiEs £S5t 7t Hotl= S 19 HHES HAIsH| Ll ot Wo 12 HES0| QoM O HEEL T4t
SOIXC TAZHE 522 02] L2t At0[0] HOJTI 44 A7t
o MMS ZAAMZCL Rt FHO HF2 17t SXIX7} =AU o
S f Ao 1 DHEMO| H4E 7|, 72 SO 26t HEE MS ot ULt
DEHS N To| Sk HHETOIM 0] HIHE HIjE = 4 o) 2 ‘Hdg M= Aol 1nE Yo|ULCE2h= BF F ol 0|0{X|= A
T} OfE Do S7| HAFSO| M MHE 23] MAIZ LIK7|S 8t 0| XIAABLEL (C) Fl Their?t 7t2|7|= 20| HIZ F0{T
[} TJSIXISS OFRIE BIS MALSO| B2 E|7|2 7|ClaT Lk =2 Over one million peopleO|Lt.
a7 ot 3 Mg A0 AREQ A7 28 U D= ‘Fao| My
0l|2t= H30| YCt
4 [344]] BlaIRMe 44X 3 HO| £22 HS22E B35
1 19740 L= TIAEH2| 27| HAF FIiof 26t Z0|Cf. Q5 X|OIBICH &YX XZO| EHQ RAIZH= X2 MHE
2 4~50| 7| EARSO| 242} OhE M| 28 2-ES ot U 2 HZsto otLtel s THEUN, HMs e U2 1E Y
i Lot QALY O|UCt IAE MAIOIM 7HE 2 S S0IX|T, OIR = HEtst
3 “The construction of the army and tomb began when 37|12 AX|= 2SIt
he became ruler.”(98)0f| Lt2+ QUCE,
4 [3HM] =7 HAIS
YA - 197401 - oM L5HH 2S00l 2siM
£%+183-195cm2l 7|
< 24212 1R HE| 2Yut HES XU /US. Reading Closer
HIZE « ZIAZEHIOf 2f5H
- 110 RES Hoskn 19 HHS HHFT| sl A Across @ emperor @ state @ structure @ field
A AE - M HS| S8 TAIZOIM HAE LD UAS Down ®bury ® beneath @ build museum
- OjT5| U2 HWAE S YW2E7IE 7|Ci2| 1 /S, © enemy

Answers - 9



B

1. enemy 2. emperor 3. structure 4. soldier

5. create

[ai41] 1. 20| OE Ot TO| HHshM J= 1

2 i3St 2, 1 2ORIE2 =

2AUCt 3. M A=E2 =017t 200 OIE{7t

4. 1 GXtz LHNOAM ZeIC2M ML 2249 LI0|2
5. OlE7tE0 A7HE2 MESA 548 U= &

BEG1 T It

O
As He

Q| AFEIS SHO
g 7520]

tt.
=
:l;
=4
=

C first, built, Iargest tomb, farmers
[GHM] ZAEH= B2 SLE T x| A Hm &HO|
Lt = ME2RE 19 LIZtE X717 fI6hM 5=2 2t
FEs XULCL O|A2 2sE MAMNM 713 2 d=S0ICt
TANEH= 29| AFSUA =3 71 =7] HAE TS
JNES 2 FHU S22t HIIOL 1 HAS2 &7t
E2 ¥ 115 E3517| floi QAL T =7 BMAE2
19744 S= RS0 2l HAAC
12 %/ WORKBOOK
Reading 01 18-19%
A
1. 522 2,24 3. EA
4. 20t =0 6. &
7. 4= X|ct, #HXICE 9. SXIX
10. Lt2t, = 11. XI5t 12. 28
13. U4 14. 2X| 15. OF2H0i|
16. M2
B
1. In 1974, the Chinese made an amazing discovery.
2. The army was created to show his power during his
lifetime.
3. Terra—cotta soldiers are exhibited in three museums.
4. Each has its own hairstyle and facial expression.
Cc
1. R HO SR} HOIM &S ot AU
2. 152 et A= Xt
3. 21 8,000H2| =7| HAF 207 X|E 5018 02| o1 AULL.
4. BAHS2 183-195 ME|OEHQ| 7|=, 2fAt 118t M| 2yt
d= HES AlH OHE 250[UCt.
5. Bli= AL 52 20| 15 2357 ol TtE UL,
6. ZAIZH= S22 042 L2t ALO|of] HOJZI =t A7) 7Y
= ZAMZUL
10 - Answers

7. S22t REO| HF2 7t SXIXEIUS W AR RAC.

8. HAMS2 M 29 SE HIESHOA 0] AOjS RS = = U
ct.

9. | moll= =7] HAISO| ™ MA R &3 MAIE LIM7|E &
Ct.

10. SIS S OFAE 2 BARSO| ¥=E7|IE 7|Ch2|l ATt

-l (s}

Reading 02 20-21%

A

1. (HE28) ALt 2. AESIC 3. 8=

4.5 5. AA|, & 6. HEE

7. ZEhs| 8. Ok, of 9. 8%t

10. EH| 1. $3¢ 12. LRI

13. Fehsl 14. -2t 220t 15, -0 HIRECH

SR
B

w N =

SN

Cc

L B

o

. They wanted to protect their country from enemies.
. Over one million people died building the wall.

. The Great Wall is the largest structure in the world

today.

. We don't know exactly how long the Great Wall is.

a AHZ 2%
TINEHE T gz A KA.
.‘Qin'0|2 O|§2 ‘Chin'Zt H|X5HH S2|M, ‘China'2ts 2

0] O|Z0IM HIZEIULY.

20| 2 6,400 ZZ0|E|, 0| 7.6 OIE|, &S& HOI7t

S2ES 2L



Millions of Years Ago

220py| QUIZ 48%

1 24km 2 TR0

oigl xpet QUIZ 49%

1 toughest 2 remains

| Reading 01

1. a 2.b 3.d 4. data, fossils, slower,

speed, slowly
C=N T. RexE FMYUSHK| OpMIL
T. Rex(E[ZHAIREA HA)=
JeELt @5 U8 USIKE2 T. Rex”Zt 7HE it
QACHD LS, 0] SEQ| M2 Y A% 24 ZZ0/EH0| 2043
Ot =Y 71 WE S XIEt= A% 100 Z20/H =2 E
2 5 UCE MAOIN JH HHE Q17H1 Usain Bolte 2008 2
2ol 100m S Z7|0IM A& 37 ZE0|HE FHACL
WSIXE2 T. Rex? £EE EHat7| /oM 38

=S ALS3ULE. OS2 ARHE ALE3HA 0f 4
Q

SHoIM
= AEH7E O
A SER=XE Yot 252 T ZE(T. Rex) &H

t5t7| ISHME 1 AL2E O|2Ct I MEX(T. Rex)
45 E = O 9F 237t ARACHE 0| HSAC A2 0.05%

ool 2UF = 4= AL THf oHZ20|

ne
rlo
bl

[lllﬂl
r—>
ol

T. RexE& LM g2
g A Gl OHE2 OXN HEH LS sREHM U7

=

[

1 T. Rex® £E7t H2 WEX] 410 3|8 £It AR2Ho| H|5H
2Ss| La2|Ch= A2 0/0F7|star ALY,

2 © Today's fastest animal2 HIZ F|0| LI2= the cheetah
e SA0|L},

3 T. Rex’t 45 E &7| ¥loiM= of 2% 7} ZRICHD 34ct. o
2tM 3605 L= Hol= 16X(2% x8)7t HRSICt.

4 [3HM] USXE2 BB SHMCZRHI| XAEE 85K T,
Rex? £ & SHFCE T. Rex= XIEIL} 713 HE ALY
LCH MSIXE2 E8F T, Rex? W £EE ALRICE 1

S2 T.Rex/t 1R &= )

| Reading 02

1.c 2. ground, rock 3.d 4. sand,

mud, rock, minerals

MNAANM F= HERQ SE2 UE SS0ILt 25

2t
0] £|7] flsiM= E&et LO| LO{LIOF 2t

Lt EI &0 25|, LHE SS0ILt
o

0l 22 F2 49| &g 10 sk 0]0F7 |5t ULH,

|
2 1~2&(They are found ... a rock.)0lAl & 2= ALK,
=3

3 6~7H2E HOt, soil bacteriaE 2 =2 &%5| HO{ ¢l
Ol= Hehs st

4 [aiM] SE0| L — F2 S22 2L IF0 23ICt
— HajLt ZIE2 YMOo 2 HET — LM FE0| Z2 =
= Ao = HaAIZIT
Reading Closer

A Across @ fossil @ study © figure @ ancient

® measure
Down @ surface ® sand @ average tough

© speed
B 1. average 2.bury 3. natural 4. mineral 5. mud
[eHA] 1. ®2| B dE59 Wi LI0l= 25M0ICE 2. 1 &
= L7 Ofefiofl EES 2221 3. 3. 32 XIT2 At
AxHsHel oflojCt 4. M2 MIEE MEE= XS 57| 20| 2
= DIHIEoIL}, 5. O Zt= ZH @3 2= 2LEsS

Y =8

Answers - 11



C ancient, surface, creatures, dinosaur, calculate

[ohA] st OO0l HUH M2 SS2f Tt TN

1 £29| oot

[y

= 20| HA0] ATt IHS2 #H

i
Mo
ro
4
ro

e
H
A

T20|LE |7 EH XN LAEC) BaRtSe o

M0l Tha LOILHT| YIsH HTBITE OIS SOiM 152

£E2 5P| YohM BE SACRRE KR
X

0|8 + ULt OS2 L3 ({EA IR0| SHUE=X| L0

-

i

—_

W 4 QT OILF B2 M=K A 2 QL

A %4 WORKBOOK
Reading 01 22-23%
A
1. &gt 2.58 =
4. B2 5 &k 6. LOFLHCH
[t 8. 2 9. M2, S8
10. AASICH 11. SHsICH 12, (229 Bel) &
13. Aot 14. k3t 165. (MZHEtel) =
16. ZYX|Ct
B

1

N

N

. Scientists used data from dinosaur fossils to measure
the speed of T. Rex.

. T. Rex was slower than cheetahs and the fastest human.

. The scientists also calculated the dinosaur’s turning
speed.

. Scientists found that T. Rex turned very slowly.

Cc

. T. Rex(E[ZHAIREA HA)= J1E 2ot S8 59| SHURAC.
AR REE YR USINS2 T. Rex?t 7HY HE SE2 0f

LIACH Y 2ottt

o5 I HE S2O XEFS Al% 100 Z20E Y22 @
ER Il
JS2 HRES A 0] EHT} O\FH SHALKIS ¥

Reading 02 24-25%

A

1. AASICH 2. 3 3. 7, *H

4, 1rHe 5. 4= 6.8

7. BH 8. AtHQ 9. &%

10. £5, 7K 11. &H9| 12. =t

13. Z=23, 0|42 14. 2% 15. TIE

16. --0| &|C}

B

1. It takes millions of years for a dead animal to become
a fossil.

2. Soil bacteria will completely eat all the little pieces.

3. Fossils are usually found under the ground or on the
surface of a rock.

4. The minerals in the rock change the dead animal into
a fossil.

C

1. 22 A AE0|Lt S=9| Kaho|tt

2. U7ti= AE0 =2 HHet 22TH0| 2440] ECt,

3. 2= S=0| 30| E= A2 ofL|Ct

4. MSANNM S= UFE22 SE2 LE SSO0ILE ZS00|A HE
Z0|C,

5. 2tM0| £[7] fIshM= S8t 20| LO{LIof Btrt

6. 52 S=0| 2Lt TF &0 25|H, THE SSOILt BfE[2|0f
7t s He 5 et

7. = HE0| X|Li= SO, HafiLt US2 LMo = HEtrt

8. SHM2 7 BEUIM 2R 2} LTt

9. J2{M ISIAE2 0|52 CHA| SF7| QU5 F45| ==5H0F
St

10. 152 =T A HOf| 4UE WSOl CHoll LOotL7| {ish =t

M= Aet



220py| QUIZ 56

1 OO 2

02
Ho
o
e
o

o e QUIZ 57%

1 borrowed 2 fixed

| Reading 01

1.¢c 2.b 3.d 4. languages, umbrella,

sunshade, Arabic

2E W2 oS X8l T KE

|Zf2|ot O{2I0ICt, O|EfZ|0L0] ‘ombrella'=
A2 52 SR0E O o7 17M1710] S0 2 EAS o,
. SHX|2F F=0| M= S JH2|IH =Lt
SHCE Ie2fM O U2 @549l =
£ XUA =ACL o|2|or OfHE X|H 2 HOSEE=
‘piano(I|0tc), opera(2H2}), traffic(E), studio(AFLIL)
7t ULt

01t Ho| OS2 OFFOl0IM RiTH OIS
OFZ0! ‘makhazin'®llA ICH DR AIZEO| 0{2f 7HX| 8¢
FoHHNM

to-r

£0| ‘magazine(XXI)

ro

mo
HT
e
_O'ﬂ
rir
bal
re
i

22 FHZ0|C.

N

ac il OFRf012] 2|0|, c= 18M|7|FEf HXH7XI2| 2JD[0|Ct,

e jumper? XO0|LC},
3 jumper, sofa, magazine, giraffe= OFE0], traffic2 OIE2]|
OFO{Ol|Af ATt

[aHA] B2 Fof

B

0f HO{S2 CHE AN X3 A0IT. HIE

E0 ‘umbrella(24h)= OIZ2[0t0{0lA T T230] Fofoll
SO0RS I A2 Y 7I2|7HE K3, 2 A|ZH] 2 2
0|7} 4Lt ‘piano(LlOt:), opera(RHE}), traffic(S) =
O|2[0t0{0lA RATt. O OIS OFEfO{0lIAM L ATt

‘magazine(&HX|), sofa(Amdl), giraffe(?|2)'0l 1 0l0]Ct.

The Richness of English

| Reading 02
1. (1) group (2) grammatical (3) single 2.d
3.c 4. fixed, the, word, words

BE0|70l= 7F2/0] AU
BE0jTE HOISO| FEOR, THOISO| HEE Mol T2

=
A7IE Qlojeitt, 222 #E0j7e| 20|E olatists A2 &
Z

0 oW 4o
o>
ﬁ
_l;l:
2
i
min
=2
o
]
[0]
Q
~
Q
)

O «
rr
rlol
roe
=l
0k
k=)
1
k=)
o
]

Xt ‘the apple of her eye(=0 '20{= OtZX| QiCH) 0Lt "2H=

Y2 ‘Tl = &XE £ ZO0SIC = S0|Ch The apple of
HH0|Ct, SHX[ZH OFRE “an apple of one’s
USHK| =Lt

one’s eye'= =%t &
eye 2Lt ‘apples of one’s eye'&E 2

&t 7EX] O QUCH BE0{F2 YT} H|ZTH HOE
Ct. ESH 2017101 o1 =HO{7t MIHE =& QiCt ‘Eat one's
words(HX §t U2 FASICH = LUHECl HEO{FO0|X|TH, ‘eat
easily one’s words’ E= ‘eat one’s phrases'= %15{ 20| &
K| h=Ct. B80j7= St HOIXE 7|SEHt.

[HX.HEI A O-I

2 Norz= BHEZ 0l 0|0{X|= HLHALO|CE

3 CjEel BEOIRSE o TEN DI UL,

4 [oH4] 8O
HOJ: HOjS 9| HOIZHE 25T 4 ¢l £8 AW HOIS)
et
£% 1: tis20| HBOITE DHE Y TES JHXIT ULt
£7 2: BT ULS HIE LO| HHHE 4 G HOIL
H7t2 4 9,

Reading Closer

A Across @include @ origin @ common @ apple

Down ® combine ® replace @ century ® borrow

@ similar

Answers - 13



B 1. military 2.necessary 3.common  4.bomb
5. single
[GHA] 1. ATQI2 16M7]0 TSt ZAEE 7HXICL 2. 2
Aol Z¥S EetttH, A2 240 RS 7152 710k
gt 3. Smith= OIF0M 1R S8t HoICt. 4. HHEE
2 7|AF ZX0f| &2 SES AU 271 o2 B2
= WS o oo HO| S THESER] §ARUATH.

C includes, origin, fixed, definition, replace
[ai4] Foj= S0IELCE B, CHE 20{0M 2 B2 THo{7t
|0 ULt OE S0 ‘piano= OIZ2|OtO{O|l M 11, HE
™ ‘magazine’'2 OFZ0{0A RACt FOoj= EEH 2802t
REE B2 0F¥E BHS0| Aot #E0Q| ojoj= 2t Hof
o HoE MM A™E & it 0IE S0 ‘break a leg'=
22X|= AO|Lt Cia|ob= AREO] RUAX| UL, EH FA2
H#EO0FO URE H|XTH H2 AT = QUCt M
injure a leg'= O 0|4 "W BICy'2t= 2|0|7} OfLIC},

A2 ¢4 WORKBOOK

Reading 01 26-27%

A

1. 2172 2. 718, 24 3. AHESITt

4. 2|ofstct 5. 1= 6. M7|, A

7. 2st 8. 22l 9. ot

10. 82 1. -0l 2rt 12. OH&

13. BH 14. AL 15. 2104

16. &%

B

- 0 A ® N

.4>.°’!\’

14

M O HOE

.Many English words are borrowed from other

languages.

. The word umbrella is from lItalian.
. Some English words came from Arabic.

. It meant a house where people kept different things.

OE ANSZRH B2 HHE XS
2|0t O 0|Ct,

o= off AT,
=

OIE E0 ‘umbrella(R4h)'E O

A2 dss JJ

0|Z2/0t0] ‘ombrella's
O HOZ7F17M710] o2 =UEUS o, OA

rlo
2
sl
il
kS

SHAIZF F=0M= S ZH2HELE HIZREHO BTt &
Q3L

REE K= AUA =ULH.

- Answers

7. 8IE £0{ ‘magazine(&X|)'2 OF20 ‘makhazin'0llA XLt
8. 16M17101 H0{7t O] HO{E FSIHAM IR ZEHOIL} CHE
EXNES I8 HAE E6HA =UCH

9. 18MI7|0fl AFEES T TS 0f3f TI2 Z79| HEJt H7I &
2 Mg Sots ol AL

Reading 02 28-29%

A

1. #E0{7 2. TtQlst 3. ZgH

4. H9 5353 6. 2%t H&9

7. AX2 8. ¢l A 2Lt 9 J1H-A|7|CE

10. 282 = 12. B3

13. CHA|SHCH 14, H|=5t 15. 7

16. &

B

1. An idiom is a group of words which has its own

meaning.

2. Most idioms have fixed grammatical structures.

3. Nor can a word be added to an idiom.

4. An idiom words like a single word.

C

1. 207 = OS2 YR, OS2 ZAHE doot= Ot
SA7HE QO] gt

2. 1222 #0712 O0|E Olsliot= A2 EF &X| ¥t

3. 0IE 0, ‘break a leg'= =8t £&0{710|Ct

4. 2t 059 2 Foil INSS 20t =2H, 0] HE0+=
5| ZHelstA| 2QIct

5. SHX|ZH ANE IR RS U0 . 2= K0Tt

7. “149| &Xt= ‘the apple o
CHOICH 2t= e ‘Jls &

=
D'

8. ‘The apple of one’s eye’E S5t BHO0|CY,
9. 07| YR} H|ZEHH



| Can’t See Well

2R ORI QUIZ 6aZ
1 ES0|UCt 2 MEZ 0laH5H0

ojgl xR QUIZ 65%
1 promised 2 pay

Reading 01

1. ¢c 2. a 3.b 4. The lady will:

(Sample) tell the judge what Danband did to her. / be
punished because she didn’t keep her promise.

The doctor will: (Sample) be punished. / be paid.

The judge will: (Sample) make a wise decision and
order the doctor to return her furniture. / tell the lady

to pay the doctor the money.

mIEEOEET L
OFF B 9, Q10| A2 OFZ0) Q10| MUBLICH Tiis

UAELICE AES 24A =0f, 2HE o 0f

[=]
o BHOfl LEZEALE AR ef 22 s E2 4 g EsUn 1
L= S, Ol W|E esU.

= G2 2AE HORU

illg
=
o
ob
al
=
M
_IE

ir
_‘2

OrEW Danbadzt= 0

JU7F RM0A B2 =2 EUEH JHE X=oi FUHY TS
UL JEE A0l X|=2E 20| J0fA =2 FACL AS53WS

Lo 22iM 1 QAks RIS XIZst7| flsh i IS 3ot
QAL

StX|2t Danbad= =S0IAELICE Y O= L2219
FUINE HHSELILL = MSM= SXEs 7T

EOlIA
{4, CHEo
Q|R}, 2|1 1 LE0lE EIAMIA| ZEMZEE L SHR2E =

oA E2 ofs FAL, OFEY 2= XZEUSZ UL,

RHM AYEAS AO|T
2 o7IM sightE A=0l2t= OICt

3 F0ll O|0iX|= ZHOUIA AT} X|=HIE LFGIAREE X2

4 [a4] g2

TEALOIIA (GIA]) Danbad?t Z1LA0HA| B &

|
OF7|g ZOIL}. / A&S XI7|X| $U7| WE

=
of g ¥s

Ch 2Ab= (OfA]) S Hre Aotk / =2

= (OlA]) IEe HES L QA= 51015
==

| Reading 02

1.¢c 21T 2T B)F

4. blind, judge, doctor, pay, see, return
disl 152 Yo 2
off =L,

LICt “K= 2AAOIA X7t & & =
=oAL HJHSLICE SHX2t M= H = 5

fX1, X, SRS

3°_|

A FRE X2 E
Danbadc TAOIAH 23

A
=
2 TS & & US

E
-~
H—
o on
ro

=
=3
=

=
IEUC 24 M7t 2
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Reading Closer

A Across @ judge @ understand ® blind @ money
® reply
Down ® bare @ furniture ® medicine
© suddenly

B 1. furniture 2. sum 3. reply 4. cure 5. sight
[aiA] 1. Jld= Am, FOj 2 CH2 7t E AtCh 2. T Al
o, IX2 B2 Mo =012t OARILE. 3. L= AL M
MEA olHYs ERX|C, J= S HUX| L/ULCL
4. MeIAE2 M22 40| 4S X|=g A0|2te FEUC
5. 1= A20] EX| 20t HES e H ¢H0| 2ot

C blind, medicine, thief, court, judge
[aHAd] Ofx| Li= QI & 40| HO|X| gb= 0XtQ| 0|0F7|
£ ALt L= JJE BA B8 £ Ue 40| gitk= 40|
0 £%LC} 147} Danbad2t E2l= 2JAIE TRtS M Lt
= 57t OtEL & & IS 7ITHRUCL SHAIEE 11 QAk=
TS OIUCE T QA 1 RIS HHEOZ M2t A2
i? =SE3IMCt. L= 1 F210| A80M & £ ALt
ZIUCH SHX|TE TtAR= 11 QARE Hel AEE A Lt Lt
= DJ2Holl HHoM ASS 51 ALt

A2 G4 WORKBOOK

Reading 01 30-31%

A

1. %Lt 2. MH 3. TR

4. =0l H 5. C o]y 6. %

7. X|=5ICt 8. (E8) &0t 9. #¥

10. CiEfottt 11. X|=5t, thstct 12, Ot

13. & 14. == 15. A=

16. 2f&otCt

B

1.

A long time ago, there lived an old lady in a small town

in India.

. He would cure her if she gave him a large sum of
money.

. The doctor came every day to treat the old lady.

. He gave the lady good medicine, and she was finally
cured.
J4e AR 22 = BA =}ASLCH
MNEES 7| 50, JH= O Oy S0l LEZEALE Rl 22
s 5= = W HUYSLIC

16 - Answers

3. 4 SHD, T 2 4 WIS fgtaUn

4, OIS ofof e £ MU,

5. Il 0f2f OALE FOIZSLICE BHRIZt Uit 0fX3| 2X)
YLt

6. A= RAI0| XIZE S0 E2 FACKD AAALILL

9. “Xf, Al =& FHAR. 2 QAT HRELICH
10. "18 2= A" =5Q10| tHEMEULE. 128iM SAts IHE
BHEH HA ST

Reading 02 32-33%
A

1. 9d 2. WAt 3. XI=stct

4.4 5.8l 6. =Ct

7. 014 Bt 8. =Lt 9. 5tX| = Bt
10. 7t7 11. O|3HstCt 12. S5

13. =83l 14. -2 HIXt2[ofl 2t =Tt

15, &HH35| 16. Zoj

B

1. A doctor named Danbad treated a blind lady.

2. The judge heard the lady’s story and understood the
situation.

3. The judge knew the doctor had taken things from the
lady’s house.

4. The doctor had to return the lady’s things that night.
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1 & 7|20 2 E=20|

of%) AR QUIZ 735
1 doodles 2 participants
| Reading 01

1. (1) inner (2) meanings (3) mood 2.b 3.a

4. drawings, personality, ambitious, humorous, mood
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(2) 0121 7XI M2l 2Jojo) Chf oS 5 2%
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ct.

2 S0 0l0{XIE THIE AZISS NS S0l 23t H0|

Ct.

3 e EtE X2 &, Yol L2 present2t S2|00|Ct,

What'’s in Your Mind?

CHElE 2|0, R ZZ0] A= ME2 MO =25 I8

Cf, st 7|—.—E NS

| Reading 02

1.¢c 2.d 3. doodling 4. pay attention,

doodled, remembered, daydreaming

MBSt AlISE £ Ut
=27} 819] B0 HAIS SHT QUCH MBS 0] Aol FolE
71S0IX| Q43 QUCHD YSICE 01242 FUZ T34t ZUN? A

=
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SHA| 12 TEH 5.87H2] M 7|ofiCt HPRIS2 LAt Of

Ot &7HRH

%
M7t X|Fet Z=

1 A7 HEHS Yol HO|2t= YZ0] A2 2K BSE

3 otherwisee HIZ 2| LH&(People say ... paying
attention.)at == LHEE JH2]7ICH,
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ZE YA ARIS0| SYBHE 2B UOIET HFES &
=ct,

Reading Closer

A Across @ lack @ current ® participant @ boring

Answers - 17



Down ® affect ® daydream @ accurate

ambitious @ inner

B 1. confidence 2.logical 3. affect 4. suggest
5. divide
[GHA] 1. HE M E HO| MB0IM Tl & XRAAS AU
Ct. 2. Lk= X0 2ol Mzt =2| X2l AFYS 3Lt 3.

A9 = OS50 Lot SSEX(0 Fets 7T,

C personality, attention, accurate, information, focus
[aA] A2 Ot A7t Q10| ©7HS SMEHALE 221 Ho|

UETN? B2 MHER 3|9 £2 £ F0 JA sttt 4
Me AEES 440 Sidf 7|28 20 & 5 UCh 2 A
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UEY 4 WA s
A % WORKBOOK

Reading 01 34-35%

A

1. 9M 2. shuE 3. HEst

4. LEHS 5. 44 6. Lyst

7. A 8. =2|x¢l 9. AtCta|

10. Oke! U= 11. SXQ 12. 2%, 24

13. Xtz 14. 7|2 15. 2

1. People’s current mood affects what they doodle.

2. Doodles show people’s inner world.

3. If you draw triangles or squares, you have a logical
way of thinking.

4. Ambitious people draw arrows and ladders.

Cc

1. 42 OFF 42t Q0] B7HE HMGHAL 17! HO| =717
2. B2 AES0| 29| 22 8 SO 2ZA STt
3. 2R MHS2 0] GMS0| MHS HWHMAE E0ELD

ng

Mmoo Rowe
0
n

x 3

&
L=}

4240 MEH 0f2i20] J2ls BYS0| YA 42

0

[
8. HM= AMEES g OfLEt 2=29| =X 7|20 2leiM =
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SfM Q| 9|07t of F=toiE Z0|Ct,

Reading 02 36-37%
A

1. 3 2. F9g 7|g0it 3. X2

4, ZIHxt 5. 7 6. 2AISICE

7. &2 8. AT 9. 2

10. EEotct 1. A=t 12. ¥4

13. LieC 14. 7|Y5tct 15. S0 Z7|Ct
16. OtOt=

B

1. Researchers divided forty participants into two groups.

2. Non-doodlers remembered fewer than 6 pieces of
information.

3 People are paying attention while they are doodling.

4 Doodling keeps people from daydreaming, and helps
focus.
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Puzzles to Solve

220py| QUIZ 80

1 O= 2 HiZ YUCtH
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oigl xppnt QUIZ 81%&
1 screamed 2 missing
| Reading 01

1.b 2.b 3. Harry Berry 4. garlic,

garlic, soup, confuse, king

2ol £I0j| S042t Oks
L0 DHSS 405k 20| UYL T= BE %S 27|
OfgH= OHs2 OHLISIC Ol |, T FAS of
Of QIQUCE. = 271242 SOIM 20| IS B, "7} L £T
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Y e &7 LA M o
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J=0] 240
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| Reading 02

1.c 2.d 3.d 4. ring, inspect,

prepare, correct, sure

Jik=l HITHOIA S| AbZ

gt QAEZ|OF Hi7F 4= sliot e AL T 2 HE H
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Reading Closer

A Across @ correct @ scream @ missing @ sail
® hate

Down ®royal @ cook ® answer @ confuse
lift

B 1.island 2. scream 3. decide 4. sail 5. lift
[GH41] 1. Oj2Hoil Lh= OFSCHR: MOollM &1 ATt 2. HE2
1 7t57t RHOM S5 S ALSHM A21E ERICH
3. dAE2 = O Z0t E0M L= o A
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C confuse, royal, hated, trouble, captain
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A2 % WORKBOOK

Reading 01 38-39%
A

1. Ag|X|ct 2.% 3. SA| Aojsict
4.0k 5.2 A 6. 2 M2t

7. SELCE 8. Hd 9. &t

10. ZCh OHEt 11, &3¢9 12. QE[AL

13. 2Z0l WA 14, AR 15. ZXatct

16. EHA7ICH

B

1. He loved to eat everything, except garlic.

2. The king got very angry because somebody put garlic
in his soup.

3. The cooks decided to confuse the king by giving a
riddle.

4. So each cook had a sign hanging around his neck.

1. U0l Ok=2 HO0iSks Ol AACH
2.0 &, O= oS 7| 2lohM AE0| 2EUTE

3. & 2758 S0 19| 2t B4, w7t W 10 Ot
oL
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LE?72t 0 A 2L
4. 2 2 37t LtM M| BO| 35 22|At Noodle Poodle,
Harry Berry2t Chilly BillyE £3ILCt.
5. LEAE2 50| 240 WA= AS HEUAC
6. Noodle Poodle: Chilly Billy= &2 =X
ELI=g
7. Harry Berry: M7t 32| =20 058 EUELICH

8. Chilly Billy: M7t &2| s=20j Ot=S EUASLIL

ol Oi5S EX| &%

9. 2EJAE2 HEX|T F M= THO0|D EXT B Ji= AXOI2t
1 Lyt

10, GAL 17} Yol $T0| OHsS UK ZHE 4 YT

Reading 02 40-41%

A

1. AtA 2. LAEZ|0t9| 3. &olistet

4. Mottt 5. ZH|5ICt 6. 4%

7. Xt 8. CHEfsiCt 9. M4 2rzt

10. 2 11. 2EEA 12. M

13. TSI 14, HI2FT 15. A

16. AF=

B

1. It was time for the captain to inspect the ship.

2. He took off his ring because his finger hurt.

3. The cook said he had to prepare dinner in the kitchen.

4. The captain was sure that the seaman was the thief.
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2. 7= J248 29 A Fol U= EI01Z ol FCH
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A Story About Land

HIEo0REY QUIZ 88%
1 SORALCh 2 ¥

ol x4t QUIZ 89%
1 price 2 Imagine
| Reading 01

1. d 2. a 3.c 4. land, walking,

setting, fast, starting point
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| Reading 02
1.b 2(1F @F QT

largest, triangle, mathematical, circle

3.a 4. shape,
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Reading Closer

A Across @ assume @ bury @ price @ total ® chief

Down ® servant @ straight ® imagine @ edge

B 1.edge 2. chief 3. explain 4. assume 5. exception
[siM] 1. I52 Ot29l 7rFEXt2|olf st s XIQICh. 2. M2

2 22 WY 2AE A0ICh 3. 2 /S Tl ot H 29
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43 %/ WORKBOOK

Reading 01

10.
13.

-

© ® N oo bk~ oD

11.

22

LS5 2. (3l7h XICt 3.
R Ay

. 2ot

42-43%

5. ELIT 6.

ottt 9.
It 1.8
THECH 14. (H)HERI

. St=0|

. So he went off to see the land for himself.
. The land you can walk around in a day is yours.
. His servant dug a grave and buried him.

. Six feet from his head to his heels was all he needed.

o = A= o WEA FHACH
OHEL, Pahom:2 2t a7t & 23

BM Z1 2tCt

- Answers

Reading 02 44-45%
A

1. 89 2. Lg 3. 8DAE

4. 598t 5. 02| 6. &4t

7.9 8. Zzt &z 9. 2%

0. --ot7| ¢lsh 1. ¢ 12. 7F8sitt

13. 2ol 14. ©H 15. THEICH

16. 7&%

B

10.

20| 7hy 2 B

. Pahom tried his best to get more land.

. But he didn’t know one important mathematical fact.

. Math can be very useful in everday life.

. The area of a square with a perimeter of 60 is 225.
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Can You Hear Me?

220py| QUIZ 96

1 2 A2 OtLCh
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2 2[9

ol Anini QUIZ 97%

1 dangerous 2 collects

| Reading 01

1.b 2.d & @ 4. earphones, loudly,

hurt, street
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O|01Z2 11 XtA|7h L2 A2 OfLICE SR 2 SYLE &
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| Reading 02

1. a 2.c 3. inner ear 4. collects, hit,

bones, vibrate, signal
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Reading Closer

A Across @ tiny @ street ® vibrate @ fluid

® volume

Down ® another @ especially ® inner @ without

reach

B 1.fluid 2.stick 3.wave 4.reach 5. brain
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Z0|Ct, 2. 11 B3 AFKh= WA
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C canal, dangerous, vibrate, tiny, signal
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46-47%

Reading 01

A

1. Atgsict 2. 4ot 3. XlotH

4, ¥ECt 5. - 210] 6. 0|02

7. et 8. 2 9.

10. =t 11. CEX|A| stCt 12. &2

13. 53l -0 HESICE 15, 71 E0t6t=
16. 2 222

B

1. Today, lots of young people use earphones.

2. They even fall asleep with their earphones on.

3. However, they can be dangerous when playi

at high volumes.

ng music

4. They should remember that using earphones on the

street can cause accidents.
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Reading 02 48-49%
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1. 229 2. 97| 3. 85U

4. St 5 -0 SO7ILt 6. A=

7.2 oty 8. 19t 9. %S

10. Hott 11. 2ottt 12. OFF 22

13. AH| 14, & 15. &

16. 0| SotLt, O lstCt

B

1. Sound waves cannot be seen, but they travel through
the air.

2. The function of the outer ear is collecting sound waves
from the air.

3. Sound waves become a signal in the inner ear.

4. Movement of little hairs changes the vibrations into a

signal.
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Into Space

2REOEE QUIZ 104%
1 =8(Mercury) 2 2o
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1 reflects 2 footprints
| Reading 01

1.(1)a 2 c 3 b
3(Mercury)

2. 2(Earth), 1(Neptune),
3.3)T@F BT

4. gives off, reflects, close, The Earth

rr
gt
%
o
o
4
02
rlo
®
=
10
0%
0x
o

\lpk

7tol ICH BHS AN OLRHE 701N & 4 gict, wt
HYNS BYQREE LIRE 2| TOiK U0IH 4 FLI,
L2l XIT0| AT U0IK 20| ELh R2U EfUA LIS 7}

ZRIE QT 42 BT QITh YL D20f W R0, 2|0

g2 oxd 1o

N
o
02
k=)
=
ng
P
fu
il
0
on

3 (2) 4 (Mercury)0l BNl 7F3 7H7H2 golct
4 [344] B SA(H)0ICE IH2 WS WHSICL XI7E o

[ —_ AN

J0| Y =R Ha| QOH JA2 RYULH KT = HYL
Z8E YT JRARIE B0 HF BRI 0 J2iA] X100 4
=1 SSS0/ & 5 ULt

| Reading 02

1.b 2.c 3. wind, meteor 4. meteors,

Venus, poisonous
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Reading Closer

A Across @ Mercury @ closest @ reflect
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@ dangerous ® weigh

Down @ meteor ® Mars @ land ® forever

@ plant
1.plant 2.land 3. weigh 4. poisonous 5. related
[aiA] 1. L= O] AZ0f Y=oj 5t H
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Reading 01 50-51%
A

1. E7 2. =0t 3. EfCt EjCt

4. WESICE s 6. ErAISHCE

7. 84 oiz2| 9. SEA|7|C

10. 7tk2 11. 43 12. X7

13. =4 14. shi&d 15. 20| E2

6. --OlM 2| 2o

0O & w N
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26

o > Db

. A planet doesn't give off light, but it reflects light from a

star.

. If a planet is far from the Sun, it is cold.
. The Earth is neither too close nor too far from the Sun.

. So plants and animals can live on the Earth.
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? EAIM ORRE H7|
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Reading 02 52-53%

A

1. 2dstct 2. S35l 3. QHHGHA|

4. BHEs| XIZE L 5 fFM 6. OtECH2

7. oti|stct 8. YA= 9. 24, HEY

10. 2417t --0ILt 11, Feiflok= 12. 2lgdst

13. 22 Fo|tt 14, FH=2 15. =0| A=

16. 78

B

1. It took only five hours to get here by spaceship.

2. The planet Earth looks so beautiful from up here.

3. I am afraid it will be a little dangerous.

4. \Venus is covered with thick and poisonous clouds.

Cc

1. R2|= AXHH Zoil AFHAH2.

2. 17 OtMIR? R2|= oM =2 HAmES EUNL.

3. 20l Mg 2 Al € YAEE0] 19690 1 HARSS
L-l'710-|0

4. IRES YIHCE HHEZO|L HI7L gl7] MEo 2RS(R2(2
LYA=E)2 Go| Hords Ao L.

5. SHX|BF 240| JHE(LA=ZE)0 GHEXE 22N,

6. 22 2 FHS0| 1284 oM HSHRH=L

7. 240 22|0|1AH 2OX|X| Z2H ZHHL!

8. Wi f2l= =40 Z olFol|oL.

9. EH0I| O JH7t0] 7| HE0| SH2 EAHLL

10. O LHE U R2|0A M7|X| §71E s|AoiQ. 2 HX| E

1. XF0M M= 36Z222H-0| LIZHEO0IR

=L,
. 07IME 1E
Z7-0| U471,



Colors Talk

220py| QUIZ 1122

1 3= 2 It
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1 celebrate 2 scatter
| Reading 01

1.¢c 2.¢c 3.a 4. good luck, South

Africa, courage, lack
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| Reading 02

1.a 2(1F 2T QF 3.b

hits, particles, shorter, blue

4. waves,
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Reading Closer

A Across @ warrior @ occasion ® die @ scared

® celebrate
® particle @ remain ® wonder @ scatter
busy

Down

B 1.scatter 2.courage 3. difference 4. celebrate

5. explain
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[SHA] 1. 2 A= 70|29 HRE0 ANRE 24E A
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OlC}. 2. 1 AH2 AL0IA &

C (different, luck, sadness, Blue, light
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Reading 01 54-55%

A

1. @42 2. 2lOj 3. 2=t

4. Yzttt 5. 9 24 6. Ot Z0tsh=

7.2 8. EofolCt 9. (53t At mf

10. &2 11. X0 12. 52

13. 87| 14. {2 15. HAb

16. 7t&

B

. It is often used when people celebrate special
occasions.
. South Africans use the color red when a family

member dies.

3. Yellow is another color that shows cultural differences.

. In some Western countries, yellow means a lack of

courage.
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Reading 02 56-57%
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4. FX|A 5 =0 6. M=
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B

1. But all the colors of the rainbow are hidden in the light.

2. We cannot see all these colors with the naked eye.

3. The blue part travels in short, busy waves.

4. The light from the Sun is scattered when it hits the

® N o o

10.

gases and particles in the air.
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Say Cheese!
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o xRt QUIZ 121%

1 remaining 2 accidentally

| Reading 01

1.c 21T @F 3T 3.b

cheese, cheese industry, tourists

4. farmers,
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| Reading 02

1. ¢ 2. an animal’'s stomach 3.b

4. history, accidentally, solid, Ancient, traded
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Reading Closer

A Across @ store @cheese ®@dip @ leftover

® trade

Down ® legend @ excellent ® separate © extra

melt

B 1.liquid 2. separate 3.store 4. origin 5. avoid
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Reading 01 58-59%
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4. 7|4 5. EAet 6. 233Ot
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16. &% Lt

B

1. Fondue is one way to consume extra cheese in

Switzerland.

2. Tourists loved fondue, and soon the dish became

popular around the world.

3. Allong fork is used to dip food into the cheese sauce.

4. In the middle of the table, put a pot over a small

burner.
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Reading 02 60-61%
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B

1. Cheese has a long history.

2.1t is believed that the first cheese was made
accidentally.

3. The solid part of the milk became cheese.

4. When Julius Caesar ruled Rome, many kinds of

cheese were made.
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A Broken Promise

HIEo0REY QUIZ 128%
1 Ol0|SERH 2 LQI0]|

ofgl xalot QUIZ 129%
1 kindness 2 turned

Reading 01

1.a 2.c 3.MF 2T BF

open both the boxes, When he opened one box, it

4. (Sample)

was full of gold. But as he opened the other box, he

was punished.
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1.d 2.c 3.b 4. bullied, thanked,

welcomed, broke, regretted
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Reading Closer

A Across @ appreciate @ regret @ palace

@ wrinkle

Down ® feast © break @ crowd ® bully @ rich
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1. secret 2. appreciate 3. regret 4. stand
5. crowd
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Reading 01-02
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| really would like to invite you to a wonderful palace

now.

. When he arrived at the palace, he was very surprised.

. As soon as he opened the box, he became an old

man.

. He became an old man and regretted what he had

done.
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